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Please read each of the following instructions carefully before attempting questions : 

There are EIGHT questions divided in two SECTIONS and printed both in HINDI and in ENGLISH. 

Candidate has to attempt FIVE questions in all. 

Questions no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing at least 
ONE from each section. 

The number of marks carried by a question I part is indicated against it. 
Answers must be written in the medium authorized in the Admission Certificate which must be stated clearly 
on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No ma,rks will be given for 
answers written in a medium other than the authorized one. 
Coordinate diagrams, wherever required, shall be drawn in the space provided for answering the question 
itself 

Unless otherwise mentioned, symbols and notations carry their usual standard meanings. 

Assume suitable data, if considered necessary, and indicate the same clearly. 
Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a question shall be 
counted even if attempted partly. Any page or portion of the page left blank in the answer book must be clearly 
struck off. 
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~A 

SECTION A 

Ql. (a) $::044H m COT~ efilJT, ~ L t ~-fcn:fr:i ~it~~ I cpur t a(JfCf)~H 
'l'n (x) P11•""1R1furn ~ : 

{2 . nnx 
'fin (x) = ~L sm L ; n = 1, 2, 3, ... 

(i) n = 1, n = 2 ~ n = 3 ~ m~ ~~ ~ ~ d{JICf)<'i"ll ~ {©1~51 

~I 

P (x) = \jf * (x) \jf (x) cnT CR:fT ~ ~ I 
n n n 

(iii) n = 1, n = 2 ~ n = 3 ~ m~ 31Cff2fl3it ~ ~' CfiUT ~ ~ ~ ~ 
i:rrt; \lfR ~ Sll~Cf>al COT °t©IR151 ~ I 

(iv) ~if cnur COT~ Bim CRJT ~? 

(b) (i) 

(iii) 25°C 1R, ~q;f~C: ~ mu ~ B$fllO"IOI COT ~~ qf{c:l(f"'I 

1 ·8961 kJ mol-1 ~ 3fu: ~ qf{Cld"i 3·2552 J mol-1 ~ I 25°C 1R 

~: ~ ~-m ~ ?dN if~~~~~ -Cf>T tj{);qa1 fiWRft ~? 

(c) ~ 

P= RT a 
Vm - b - y2 

m 

~~~' ~~fm~· sniRtCf>f?~ (Pc, Ve, Tc)~~&i\i!Chl 
Cf>T Htffiur 4)) Nl Q\, ~ ~ ~ 3li:R l4 I l41'"4 ~ ~ I 
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(d) PP=•1R1reJa i511 if~, ~ ~ ~ ~~'a~ tf>IR:<!il ~ qfo:fl{'l'"l ~ : 

(i) H20 (l) ~ H20 (g) 

(ii) CaC03 (s) ~ CaO (s) + C02 (g) 

(iii) 2H2 (g) + 02 (g) ~ H20 (g) 

(iv) H20 (s) ~ H20 (l) ~ H20 (g) 

(v) NH4Cl (s) ~ NH3 (g) + HCl (g) 

Ce) 31Tcrul\il'"l ~~-1 ~ fcKq;r ~ mm iz;~<'"cfl 246·5 kJ mol- 1 ~ I ~ ~ 
a(i1~ui CfK1T ~' ~ 0 2 ~ Rl<!!1N1a Cfi"{ ~' ~ ~? 

(a) A particle of mass m is confined in a one-dimensional box of length L. 
The wavefunctions \If n (x) of the particle are given by 

/2 . nrcx 
\!fn (x) = VL sm L; n = 1, 2, 3, .. . 

n is the quantum number, and 0::;; x::;; Lis the distance along the length 
of the box. 

(i) Sketch the wavefunctions for the states with n = 1, n = 2 and 
n= 3. 

(ii) Describe what is meant by the Born interpretation, 

(iii) Sketch the probability of finding the particle within the box for 
the states with n = 1, n = 2 and n = 3. 

(iv) What is the average momentum of a particle in a box ? 

(b) (i) How is entropy defined thermodynamically ? 

(ii) What role does ~S play in determining the direction of 
spontaneous change ? 

(iii) At 25°C, the enthalpy change of the graphite -7 diamond phase 

transition is 1 ·8961 kJ moi-1 and the entropy change is 
3·2552 J mol- 1. Which is the spontaneous direction at 25°C ? 

10 

Which direction is favoured by a rise in temperature? 10 
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(c) 

(d) 

(e) 

Q2. (a) 

Determine expressions for the critical constants (Pc, Ve, Tc) of a 
Van der Waals gas, defined by the expression 

P= RT a 
Vm - b - v2 

m 

where the symbols have their usual meanings. 

Calculate the number of phases, components and degrees of freedom in 

10 

the following systems : 10 

(i) H20 (l) ~ H20 (g) 

(ii) CaC03 (s) ~ CaO (s) + C02 (g) 

(iii) 2H2 (g) + 02 (g) ~ H20 (g) 

(iv) H20 (s) ~ H20 (l) ~ H20 (g) 

(v) NH4Cl (s) ~ NH3 (g) + HCl (g) 

The molar enthalpy of formation of oxygen atoms is 246·5 kJ moi-1. 
What is the longest wavelength photon which could dissociate 0 2 ? 10 

(i) 

(ii) 

~;j;-1 OF, OF- 3fR OF+ cfil ~ cfi)filq: 3fR ~ ~ ~ 311~6h 
Cf)~, ~'q ~, ~Q acil 1~\!ll, ~Q ~m ~ 31jj<!lenfCI 1:1\ 

~ eh)N!~ I 

PtJ:01faf©a ~ ~ fct>;r ~ ~ ~~ ~ ~ co1ur ~ cfil 3iror ~ 
3fu: ~? 

(1) H20~NH3 

(2) SF2 3fR BeF2 

(3) BF3 3'fTI: BF4 

(4) PH3 3'fTI: NH3 

(5) NH3~NF3 
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f(v) = 4n M v2 e-Mv2/2 RT ( J
3/2 

2nRT 

(i) He~~ -3fu: N2 ~ ~' f(v) ~ {@1ft=i-;i ~ I 

(ii) ~ fcfi f(v) Sl~tiil~C[lct t ~~ 

00 f f(v) dv = 1 

0 

(c) 20°c 11{ ~ COT ~ (RlCf 72·75 x 10-3 Nm-1 ~ I ~ mq 11{ "I.;~ ~ 

33·24 ~-stkt~la CfT#t fclet<:i=i Cf>T y = 33·24 x 10-3 Nm-1 ~ . I ~ 

p = 0·9614 x 103 kg m-3 fciet""l"l ~ ~ 3fR 0·9982 x 103 kg m-3 ~ ~ 

~ I~ Ch~l6fll ~ -q ~~~Ta fct~;q;i -~ Cf>l1 "3itR Wn? 

(a) (i) Compare the molecules OF, OF- and OF+, discussing molecular 

orbitals, bond orders, bond lengths, bond energies, and 

paramagnetism. 

(ii) Which of the following pairs is expected to have the larger bond 

15 

angle and why? 10 

(1) H20 andNH3 

(2) SF2 and BeF2 

(3) BF3 and BF4 

(4) PH3 andNH3 

(5) NH3 andNF3 
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(b) The molecular speeds are distributed according to the Maxwell 
distribution, 

f(v) = 4n 1 v2 e- Mv2/2 RT ( 
w J3/2 

2n:RT 

. (i) Sketch f( v) for He and for N 2· 

(ii) Show that f(v) is normalized, i.e. 

= J f(v) dv = 1 

0 

(iii) Show that the most probable molecular speed Vmp, is given by 

Vmp = ~2~T 

(c) The surface tension of water at 20°C is 72·75 x 10- 3 Nm-1. A 

33·24 vol% solution of ethanol has y = 33·24 x 10- 3 Nm- 1 at the same 

temperature. Given p = 0·9614 x 103 kg m- 3 for the solution and 

0·9982 x 103 kg m- 3 for water. How much less will alcohol solution rise 

in the same capillary tube? 

(i) 

(ii) 

A-BRL-M-DIFA 

- - v2 
\Jf - \Jf = E\Jf h2 ( Ze2 J 

2µ 4n t:0 r 

µ ~c'lcts:T'"i-~ ~ c;r BA1;fta $:0~l11"i ~ I t:; l ~~l\J1'1 ~ ~' ~ me, 

$c'!Cf?T"i * ~~~l"I, * m~ fern~~~~ ? 

6 

15 
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(iii) ~1$~\JJ;:ft<!l ~ ~ 1iB 3-~ ii:; ~ 3-l-1w ~clef?l'"i-~ 1t21%{01 

OfiT Jt ("'!! i 6h"i ~I Nl q; : 

00 

f ·~ ?. d < r > = \Jf r \jl 4n r.... r 

0 

00 

?Y=r ~ ~ J n - ar d n! 
~" Q l<:t> r e r = --a n+l 

0 

\jJ(r) = ~ e-Zr/ao [ 
3 Jl/2 

a 3 re 0 

~ Z ~ ~~ 3fR a 0 = 4n £0 h 2 /mee2 = 52·9 pm~ 
~i1 

(iv) ~~~~~~~·~(a0/Z)-a~i? 

(b) ci)~~l<!l~ ~ Cf>lfbd6hl ~ a = 520 pm ClIB ~ 3ld: ~ ~ ~ ~ 
~it Thn&:R=la Wm~ I 

(i) ~ -qm ii:; R6hc:cif<l~1 ii:; ~ ~ ~ i ? 

(ii) f9hRd14 K mg cfiT Slflll~ld fl£1"'1 d l feRRt ~ ? 

(~ : KCf>T ~ tm: = 39·1) 

(c) Cd-Ni~~~~~ rnfi!INf'I * ~ $clct~ls ~ CRJT ~ 
~? 

~ ~ ~ Cd~ Ni cITT ~ ~ ~ ~ QIB ~ ? 
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(a ) The basic Schrodinger equation for a hydrogenic (1-electron) atom is 

h
2 

2 ( Ze
2 J - - V \If - \If = E\lf 

2µ 4rc e0 r 

(i) Explain what the terms in this equation mean. 5 

(ii) ~L is the reduced mass of the electron-nucleus pair. For hydrogen, 
how does it compare with me , the mass of the electron ? 5 

(iii) Evaluate the average electron-nucleus separation for the ground 
state of a hydrogenic atom : 

00 

< r > = f w* r \Jf 4n r 2 dr 

0 

given that 

00 f rn e- ar dr = 

0 

n! 

and the wavefunction is given by 

( 
3 Jl/2 

\jf(r) = ~ e-Zr/ao 
a 3 n 0 

where Z is the nuclear charge and a0 = 4rt E0 h
2 /me e2 = 52·9 pm 

is the Bohr radius. 10 

(iv) Why is this different from the most probable radius (a0 /Z) ? 5 

(b) Potassium crystallizes as a body centred cubic lattice having unit cell 
length a = 520 pm. 5x3=15 

(i) What is the distance between nearest neighbours ? 

(ii) What is the expected density of crystalline K metal ? 

(Given : At. wt. of K = 39· 1) 

(iii) What is the ionic radius of K+ ? 

(c) What are the electrode reactions for charging and discharging of the 

Cd - Ni alkaline battery ? 

What are the advantages of choosing Cd and Ni for the cell ? 

A-BRL-M-DIFA 8 
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Q4. (a) N02 Tm ~&f (rrq ~ ~ 3"1j:iciich14 ~ fTB ~ I ~ ~ ~ ~ ~ ~ cir 
0°C if ~ ~ ~ ~ t (J¢f ~ ¢11f?ci6P tfR ¢f<g ~ t ~ ~ 
3'1j~(ij6fl,tj 31~ -{Tr~ \ifTill ~ I 

<D $;i~1;i ~ ~ CfiT $fdJ:fl'1 m ~, ~ ~ (Oj4Jef1<U1 RiRsiq:, ~ ~ 

"SI"~ Cfi1 fY~eti{Uf ~ ~ ! 

(ii) "ff ~&fUTI 1R 3"11tnfur, 't~fjAH C1~11$Q\ fcF> Cf(ff ~ cn"ffi ~ 
~ai1~fltj) ~ ~ fcF; ~~ ~ I 

(iii ) 298 K ~ ~ ~ ~ BIJ"'41Cf~ ~ Cf)T qf{Ch~H ~ ~ ~' 
~ 1'4161~ ~ N02 ~ ~ ~ ~ ~ ~ ~ f.:p:41 Rifula ~ 

CfiT !:?fdlOJ lci c:fi1~1q: : 

(b ) (i) 

PN
02 

= 46 mm Hg, . p (~) = 23 mm Hg 

~ WC'ill"l CRTr mm ~ ? 

(ii) Ullf~ ~ XA ~ XB ~ ~ fcfi?l4"'1 GHR ~ ~' ~ fcf> ~ ~ 
~ tq~-ur ~ ~ ~ Pt8R1fula ~ ~ : 

(c) (i) 

~ n = nA + nB ~ ~ A ~ nA ~~~ ~ ~ B ~ nB 

Ulll~3if ~ qf{o1 1J:J :i::cl ¥'4 ~ feiC1 '44 ~~iron~ I 

(ii) ~1$~l\JH-~ a(i 1Cf>a'il ~ ~ it H2 3111 Cfi1 crof1 Cf>8 ~ ~' Ql$l0{ 

~ ~ ~ ~ ~ ~Ffa1 1•11$~n VB a{i1Cf>t=H P11•4kifuaa ~ : 

A-BRL-M-DIFA 
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(a) N0 2 gas is a paramagnetic brown gas at room temperature. When a 

sample of the gas is cooled below 0°C, its molecular weight increases, 

(b) 

(c) 

and it loses its paramagnetism and colour. 5x3=15 

(i) Using electron dot structure, write an equation which accounts 

for these observations. 5 

(ii) Based on these observations, predict whether the reaction taking 

place is endothermic or exothermic. 5 

(iii) Use the following data for the pressures of N02 and its product 

at equilibrium to calculate t he equilibrium constant for the 

reaction at 298 K : 

(i) 

pN
02 

= 46 mm Hg, p (product) = 23 mm Hg 

What is an ideal solution ? 

(ii) Show that the entropy of mixing of two liquids to form an ideal 
solution of mole fractions xA and x B is 

where n = nA + nB is the total amount of solution resulting from 

5 

5 

nA moles ofliquid A and nB moles ofliquid B. 10 

(iii) What mole fractions give the maximum entropy of mixing ? 

(i) Construct a trial LCAO - MO wavefunction for the H2 molecule. 

(ii) The trial VB wavefunction used by Reitler and London to 

describe the H2 molecule rn terms of hydrogen-like 

wavefunctions is 

Compare with the wavefunction you wrote in (i) and comment on 

5 

the differences, if any. 15 
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~B 

SECTIONB 

Q5. (a) ~ fcj) ftj.,4) flff ~ ~ ,j&f)J:JOft;q >rm\ -q 

µ=~-~~ 

CP = 3=1qftctdT-zy;r "Cf{ "Wli~ fcl~llSC ~ I 

(b) 18·5°C -B ~ ~-~'2iciQ:ii)1 ~ ~ ffi~ ~ ~ ~ ~ fq~ ~ I ~ ON 

ei;;) CRTT ef-,~ I ~ ~ ? 

~ OTtr ~ 3'I ff8 rct if> ~ ef>t.:r-m 3'11 ~Cf> f9F>;q I fcl ftr ~ ? 

(c) P!i:;iR1Rsk1 ~ 

H2 (g) + ~ 02 (g) + H20 (l) ~ 2H+ + 20Ir 

~~ ~G2gs'Cf>1-77·8kJ~~~ I 

Pti:;iR1f©a 3=fd-~ 

_!_ 02 (g) + H20 (l) + 2e- ~ 20H-
2 

~ ~ E;98 CfiT qf{(:fici'"l c411Niq: I 

(~ : 1 ~ = 96,500 c) 

(d) Uflll!R(h ~A ~ B cfiT f9h;q1fclRT Cf)) Pli:;iR=!fula ~ ~ fffisrr \lfT ~ 
~: 

A+A A* +A 
K_1 

A* B 

(i) 
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(ii) A* ~ ~ ~141 ~~ ("f blCf>2"'"i ~ lfR Cf){ ~ ~' [A] ~ ~ 
f?~ ~ ~ ii , ~ B ~ ~ ~ ~ Wi ~ ~ 
c,(;jfui~ I 

(iii) fcn-1 ~3-1-l if; ~' ~ (1) >f~ ~ 3fu (2) ~ cnlf2: ~ ~ 
\ITTffi ~ ? 

(e) iR=r ~~n15Jcfi1 tR ~ m ~ 3iCJ!tntio1 ~ ~ ? 

~ 4l'IN-1Q; fct> {fll!tflt\101 ~ ~' 3iC1~n~a ~ m ~ ~ AP ~ ~ ~ 
l+KP 

t ~ P~~~~~~t A¢fR K-ff;f ~"¥9~~ I 

(a) Show that in the adiabatic reversible expansion of a gas 

where 

µ. CP =-(8H) 
oP T 

µ=Joule - Thomson Coefficient 

CP = Molar specific heat at constant pressure. 

(b) Below 18·5°C triethylamine is miscible with water in any proportion. 
What is the temperature known as ? 

What is the molecular mechanism for the existence of such a 
temperature ? 

(c) ~G298 is found to be - 77·8 kJ, for the following reaction 

1 + -Hz (g) + 2 02 (g) + HzO (l) ~ 2H + 20H 

Calculate E;98 for the following half-reaction 

10 

10 

(Given: 1 Faraday = 96,500 C) 10 
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(d) The mechanism of a chemical reaction A---j B can be written as follows : 

(i) 

K 1 
A+A A*+A 

K_1 

A* B 

. . - d [A] d [A*] 
Wnte expressions fo:r and in terms of [A], [A*] 

dt dt 
and the rate constants. 

(ii) Assuming a steady state approximation for A*, express the rate 
constant for the formation of the product B ·in terms of [A] and 
the rate constants. 

(iii) Under what conditions does the reaction become (1) first order 
and (2) second order? 10 

(e) How many types of absorption are there on solid adsorbents? 

Prove that, for chemisorption, the amount of the adsorbed phase m is 

equal to AP where P is equal to the pressure of the adsorbent, A 
l+KP 

and K are some constants of the system. 

Q6. (a) R3SiCl, R2SiCl2, RSiCl3, (R = .qf~) col fBR1et>"i CSl§)flChl cn1 ~ -q ~'fdJ:f lfl 
~ \iflm ~- I ~}(atiol -ij ~ 4Jf?taj ~ ~m cn1 ~ chlWlll: I 

(b) ~J:f$il~ll: ~ : 

(i) ~ [CuCl4]2-Cf>T ~ff<lfCI t -qig [Cul4]2- COT q@ I 

(ii) [Co(CN)6]4- ~ :!Cf>l¢1a [Co(CN)6]3- ~ ~~ t ~ 
[Fe(CN)6]3- ~ gcn1;sici [Fe(CN)6]4- ~ "f~ ~ I 

(iii) ~ 'C:flg HCN -ij ~1~'$l\Jl"i ~ ~ f.:r7ftR ~ m~ Rn1fila m '3fT<ft t ~ 
~ ~k1"R{Rc:f) ~ -ij Rlflfila ;r@ ~ I 

(iv) [Cu(en)2]2+ CfiT ~ii'~ [Cu(NH3)4] 2+ ~ "f~ ~ ~ 

~men~ I 

(c) (i) 

(ii) 

A-BRL-M-DIFA 

(en = NH2 - CH2 - CH2 - NH2) 

~Tc:ffil\Jl"I qfo:lf5"i ~ ~. ~~-,J~Jf~"I Cf)l ~~et>1ll -sMTCf ~ -ITTol ~ ? 

~1$ll~l4 C ~ mg~ ~ ~ ~ Cf)l croR chlNN I 
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(a) R3SiCl, R2SiCl2, RSiCI3, (R = methyl) are used for making silicon 
polymers. Explain the roles of these compounds in the synthesis. 10 

(b) Explain why 

(i) The complex [CuC14]2- exists, but [Cul4]2- does not. 

(ii) [Co(CN)6] 3- is more stable than [Co(CN)6] 4~, whereas 

[Fe(CN)6]4 - is more stable than {Fe(CN)e]3-. 

(iii) Copper metal dissolves in HCN with evolution of hydrogen gas, 
but it does not dissolve in sulphuric acid. 

(iv) The stability constant of [Cu(en)2]2+ is higher than that of 

[Cu(NH3)4]2+ 

(en = NH2 - CH2 - CH2 - NH2). 

(c) (i) What is the co-operative effect of haemoglobin during oxygen 
· transport ? 

(ii) Describe the metal site of Cytochrome C and its function. 

Q7. (a) ~ m ~ Rf(14'"f ~ ~ a{i1~\:Af ~ 3'1Cl!t0t5101 453 nm ~ 3fu: 
~ S1Rl~f8 3<"fi\if'"J 508 nm ~ ~ · 1 Slffi{lffl cfIT ~ ~aIBT 40% ~ I 

~N:{n~a ~ ~ ~ siRl~1<"1a1 Cf)T S1R!;{)rn ~ ~ ~ '3<"l"Ni~ ~ ~ ? 

(b) "Sf~ zjSf)lOJUI ~ ~ ~ ~ t!Cfll~a ~~ ~ ~ 3"1C4!?flt5f01 '(OqCf?lOf ~ 
"ffia.:uT ~ ~ I ~ chl Nl Q\ I · 

(c) ~ ~ 3fu CfCf~ ~ ~ CR-11-ep;ff ~ ~ ~ ? ~ ~ ~ ~ cfil" fi~l4d I 
-a, 3cJ~<o1 ~ ~ ~ ~ 1 

(d) 25°C ~ N20 5 c€r ~-~ ~ 104 s ~ ~ 3"14t4Ra ~ CfiT qf{CflfH chlNll!:, 
~t~~ ~ Cfif ~~' k= 6·93x10- 5 s-1 ~ I 

(a) A solution of a dye has its maximum wavelength light absorption at 
453 nm and maximum fluorescence emission at 508 nm. The quantum 
efficiency of fluorescence is 40%. What percentage of absorbed light is 

20 

20 

emitted as fluorescence? 15 

(b) The absorption spectra of lanthanide ions are sharper than those of ions 
of the first transition series. Explain. 10 

(c) What are the differences between the triple point and boiling point ? 
Illustrate with the help of the phase diagram of water. 10 

(d) Calculate the half-life ofN20 5 at 25°C and the fraction decomposed after 

104 s, given that the rate constant of its decomposition is 
k = 6·93 x 10-5 s-1. 15 

A-BRL-M-DIFA 14 
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QS. (a) (i) ~ ~ [Co(NH3)4Cl2]+ it> ~P"llCl4cfl ~ ~ ? ~ °"ITT, W ~ 
~·;:rFm ~ °t© 1~?1 ~ 3fR w:i 1ei'!lcH"11 ~ >ret>R (~ ~) cfiT ~ 

~I 

(ii) ~ ~ {mi4R<:t> (IUPAC) ~ R=ifu!Q\ I 

(iii) ~ l"fl11Cl4Cll ~ ~ ~ :JU1t"T4 ~1\ {lfl1<qH<:f> ~Gf>;q1~ftMa1~ 
~~? 

(b) 0°C ~ ~ ~ 36 g enr, 0°C ~~it .j6f>4on4 ~ ~ ~ D.G, D.S ~ D.H 

~ lfR1' Cf>T qf{Cf>ci4 ~ I 0°C ~ ~ ~ ~ efa :JH ~ 335 Jg- 1 ~ 

~~I 

(c) ~ ~~ % ~ CfiRlJT t fcF> ~ A ~ im B ~ ¢ft:cr fel("tll"I ~ '1("14$t>iRt&> 

~fuw~~ I 

(d) ~ 

Hg2Cl2 + Clz ~ 2Hg
2
+ + 4Cr 

~ 1lH&> fcn:rcr E0 Cf)T qf(Ch~H chl~Q\ I 

~: Pfqkif©a 301q;:i•!H fcJtrer : 

E0 (Hg2Cl2 /Hg) = 0·27 V 

E 0 (Hg2+ J Hg~+) = 0·92 V 

E0 (Hg /Hg2
+) = 0·79 V 

E0 (Cl2 /CC) = 1·36 V 

~ : ~fd41M ~~~ 

A-BRL-M-DIFA 

NA= 6·022 x 1023 mol-1 

h = 6·626 x 10-34 Js 

KB = 1·38 x 10- 23 JK-1 

c = 3·0 x 108 ms-1 

R = 8·314 JK- 1 mor1 

F = 96,500 C 
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(a) (i) Does the complex [Co(NH3)4Cl2]+ have isomeric forms ? If so, 

draw their structures and identify the type(s) of isomerization. 

(ii) 'Write the chemical (IUPAC) name of the complexes. 

(iii) Do the isomers have identical physical properties and chemical 

reactivities ? 

(b) Calculate the values of D.G, L'iS and L'iH for the reversible condensation of 

36 g of water at 0°C to ice at 0°C. The latent heat of melting of ice at 

15 

0°C is equal to 335 Jg-1. 15 

(c) Explain why the eutectic point of a solution between solid A and solid B 
is invariant. 

(d) Calculate the standard potential Ec of the reaction 

Hg2Cl2 + Cl2 ~ 2Hg2
+ + 4Cl­

Given the following reduction potentials : 

EC (Hg /Hg2
+) = 0·79 v 

Given : Constants for use 

NA = 6·022 x 1023 mo1-1 

h = 6·626 x 10-34 Js 

KB = 1 ·38 x 10- 23 JK-1 

c = 3·0 x 108 ms-1 

R = 8·314 JK- 1 mol- 1 

F = 96,500 C 
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